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405 RHaHRSH| 11,000 11,000
01 TS EFHSHI 11,000 11,000
S0/ & 11,000 11,000
O=24)| =& ol=2J1(1t1) 11,000
MEMYTI] = 1,093,815 1,071,668 22,147
101 21244| 189,207 270,240 A81,033
M It 22 sSE s 189,207 270,240 A81,033
S0 &t 189,207 270,240 A81,033
OstZaRA 189,207




SN &2
i NHEEES
o MEtgDiE F 22| (e &=
. . roy 11 0 41 ~
SA - EH - CR(B) - NRAY - BaS S cR RS2
—oI12d 76,9603 6 350 161,616
— a2 76,9603 6 * 152 *150% 10,390
—4f 282 172,006,000 *10% 17,201
201 2Er23Y| 517,530 414,350 103, 180
01 At=222teltl 95,435 117,110 N21,675
=0 & 95,435 117,110 N21,675
OZ2gEI| HII= ®*IgHel =&
200,000& x50 10,000
OMEMEI| Z2I4HT 2L
200,000 =404 8,000
OHHEX, HEZs =g ¢
200,000 * 1574 3,000
ONMEEE 2==He 22E 0 &
A28 7 500& *6,000&¢ 3,000
OuEe MEMD| 4 THE
150,000& %44 A+ 123] 7,200
OZEEI| MY =H & & =X 24
8,000 *4H x50 2,560
OEMXS MM &L HEESE =
= 24 8,000& 2 x60 9%60
O=2HYSEI| HolE=s1 =240 Xt
550,000 *3! 1,650
OMEtMD| 2852 MRS EH| LIt
550,000 *3! 1,650
OAMNSZEZHEE A=2t2| &d| X
605,000 *3! 1,815
SZHDIS(HsO1H, HEIO) el
20,000& 20071 4,000
OUEHIIZ 2ct2l IEAIAE =2 4,000
OstHAZL2R(013HY) 1=d| 47,600
&A= 200,000& x56H 23| 22,400
—29 70,000& x56H 3,920
—OtM 3} 100,000 *56H 5,600
— 0ok =))| 50,000& x56H 2,800
—gsts 200,000 «564H 11,200
—oEd S 30,000& x564 1,680
02 S3294| 422,095 297,240 124,855
20 & 422,095 297,240 124,855
O3322 S(HAXE, 3422, HEEI) 22,320
— Xt HIIZBA =22 40,0002 *23CH 920
—x 282 800,000 *23CH 18,400
—HAXE A ST HIE
1,000,000 *3CH 3,000
OXtgd A=z 396,175
— AR 17,225,000 = 18CH 310,050
—SAM=E A 17,225,000 *2CH 34,450
—MHEBS =HIE 17,225,000 *3H 51,675
O=Z0IgHd 20 T2 SXE=|
300,000 *12& 3,600




25 A3
M8 Tolsdes
CHR: MEH D2 2d 2t (&9 &
s . bou 11 & 0 AbH _
S - BB O9(3) - NEAIY - BAS (g%%‘) 5(3@% HDE2
202 04| 3,400 3,400
01 2LHAH Y] 3,400 3,400
=0 A 3,400 3,400
OSAlg & MMy DKl dixor
60,0002 x2H* 10 1,200
OEMXS MEMY D] =1
50,0002 x2H 10 1,000
OMESZE(HAHNEX, 2ET) =
60,000 x2H 10 1,200
206 MEH]| 167,678 167,678
01 =4 167,678 167,678
S0 A 167,678 167,678
OMUDIESM AHEEE A 157,683
—albt= 91,930
-54 312%20,0000H 620
- 104 38270, 0000H 2,660
204 5724250, 0000H 14,250
5014 1242 600, 0000H 74,400
22 7,853
204 5721%29, 0000H 1,653
- 5014 12421%50,0000H 6,200
—MAIEEE 57,900
=104 41450, 0000H 18,450
- 204 5821 x450, 0000H 26,100
- 304 89%!1%150,0000H 13,350
OsAISMIDl A2 7Y
40,0002 *20004 8,000
OSAIEMY D] 22lHIE 988 M
57-&+35,0000H 1,995
405 KHAMSISHI 216,000 216,000
01 XA 23 F S| 216,000 216,000
=0 A 216,000 216,000
O X 2¢ 72,000,000 «3CH 216,000
IRse Z2ECHSD| 537,329 464,786 72,543
101 e124| 21,827 16,284 5,543
4 JI2HHI22NEES 21,827 16,284 5,543
=0 A 21,827 16,284 5,543
OAIE HAXR (M, AAISIEEH,
TOIoILSHAL ) 76,960 x11Hx 15 12,699
QuEtMpDI2s2, stFEae|dy R
2 EHID| 148,510R x5H x4 3| x3 8,911
OMtHEE = 21,610,000 * 1% 217
201 B2 AHY| 78,502 78,502
01 AF222telb] 71,302 71,302
=0 A 71,302 71,302
O=EHdZE2s HASE 2 2,000




SN SR

Ha: QoA
el MEHIIS M2l (Eel &S
oy IELIE! =
A - B SR(3) - RA - BAES S N imE=]
Ozt& 4 2A2I8E FL(3EX, LS
Z 8) 20,000 J*207H**12£ 4,800
OXed| 2cl HHE 822 MX
20021%20,00004 4,000
& BNE s
212,960 #1401 A +43] 11,926
% 208 MR
100,000 *507H 5,000
= S#0 HA
30,0002 x50 1,500
OMgD] SYEI| ZAIBHoI2HCCTV) e
T2 42 500 =20« 128 11,220
OANZSZIE R At=2e| ELHA =
= 919,000 2401 2 22,056
OgAL HBAXIET =S4
8,000 10 » 15 1,200
OBlsor 2712l 22 840 MX
60,0002 1074 600
OHlset |8 HMel =2 7,000
2 3=l 7,200 7,200
=y 7,200 7,200
OSY S| ZAIZtolizH(cCTV) SRl 2teldl 1,200
—HlIes 100,000 » 122 1,200
Oss3ad | 2= 3,000
OMeDl 28 SIIXIS CCTV 0l (57HA) 3,000
202 04| 600 600
01 2L 600 600
=0l & 600 600
Qugsde® fds 84 S
60,0003 x2H+5 600
206 M =4 129,000 189,000 60,000
01 =4l 129,000 189,000 260,000
=y 129,000 189,000 60,000
Oddetz HEZ SE 78
3502 *10,000=2#43] 14,000
Ollse? HE 2c+=Hg 7
500,000 *15004 75,000
OJIEE Sa=sFHJI=2 20I€+)] 7
20,000 =2,000H 40,000
301 et2dS 39,400 35,400 4,000
11 SAAHIXES 3,400 3,400 0
=0l &t 3,400 3,400 0
O Het JZL=)| 2SS0 NHASA
A 24 3,400
-5-d 200,000 x12/x11HEH 2,200
—= & 300,000 42 1,200
14 J|Et2 8= 36,000 32,000 4,000
=0l & 36,000 32,000 4,000
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S B
M KHEHAHES
Ciel: MEHIIZ MR (cr9l: &g
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
= 3,500
= 14,000
401 Al&EHIL L0 25,000 24,000 1,000
= 7,500
& 3,500
= 14,000
01 Al&HI 25,000 24,000 1,000
= 7,500
& 3,500
= 14,000
=01l A 25,000 24,000 1,000
= 7,500
& 3,500
= 14,000
Og9=sHlIZ2 Ss8otE &X
5,000,000 & *5JH0 2~ 25,000
= 7,500
& 3,500
= 14,000
AL &= AFY 460,000 1,108,000 648,000
= 138,000
= 322,000
401 Al&2H1L 20| 460,000 1,108,000 2A648,000
= 138,000
= 322,000
01 Al&HI 460,000 1,108,000 648,000
= 138,000
= 322,000
S0 A 460,000 1,108,000 A648,000
= 138,000
= 322,000
OUEAIE Hg sX 460,000
= 138,000
= 322,000
HIIS™elAld &X 560,000 667,900 A 107,900
= 560,000
401 Al&EHIL 200 560,000 667,000 A 107,000
= 560,000
01 Al&H]| 560,000 667,000 A 107,000
= 560,000
=0 A 560,000 667,000 A 107,000
= 560,000
OHIIZ2 MHelAld(a2) &R 560,000




S B
M KHEHAHES
ool MBEHIIE HFBL LR
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% MinEs)
| | = 560,000
Me2s SN XE AIg 115,440 65,952 49,488
101 21| 115,440 65,952 49,488
M JI2tH22sSES 115,440 65,952 49,488
=0 A 115,440 65,952 49,488
OXg e E201 B4
76,960& x5 300 115,440
Clalgd| MAIE & 256,000 0 256,000
= 128,000
& 64,000
= 64,000
402 SI2H =01 A 256,000 0 256,000
= 128,000
& 64,000
= 64,000
02 SIZIXIE2 AL E (01X THL) 256,000 0 256,000
= 128,000
& 64,000
= 64,000
S0 A 256,000 0 256,000
= 128,000
< 64,000
= 64,000
otlalgd| & talgd| M| 2 256,000
= 128,000
& 64,000
= 64,000
MeE =sHI0IEe AXIA| 120,000 0 120,000
= 60,000
= 60,000
401 Al&HIL 20| 120,000 0 120,000
= 60,000
= 60,000
01 Al&BI 120,000 0 120,000
= 60,000
= 60,000
S0 A 120,000 0 120,000
= 60,000
= 60,000
OoMzg sUIote &Xl 120,000
= 60,000
= 60,000




